Soustraction Avec Des Zéros (E)

Calculez la différence.

10 100
-7 -32
100 100
- 84 -96
10 100
-4 -33
10 100
-3 -22
100 100
-75 -21
10 10
-4 -7
100 100
-47 - 32

10

100

- 67

100

- 38

100

-85
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Soustraction Avec Des Zeéros (E) Réponses

Calculez la différence.

10 10 100
-9 -7 -32
1 3 68
10 100 100
-2 - 84 -96
8 16 4
10 10 100
-9 -4 -33
1 6 67
10 10 100
10 -3 -22
0 7 78
10 100 100
-7 -75 -21
3 25 79
10 10 10
-9 -4 -7
1 6 3
10 100 100
-4 -47 -32
6 53 68

10

100

- 67

33

100

- 38

62

100

-85

15

Mathslibres.com




